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3c0s’X — 2sin X = 3 - 3sin’x
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cos’x - sin™ = 2sinx - 1 - 2sin’x
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Bonpoc: Ha kako#f yron HyXHO NoBepHYTh TOUKy P, 4To6HI No-
TY4UTb TOUKH M|, M,, M;?

Ms(cos(a + B); sin(a +B))

G
My(cos(-p); sin(-p))

Kaxue koopaunats! 6yayT umers Touku My, M,, Ms?
M;P = MM,  (MsP)' = (MM,)’ Nl
' 2 : 2 o Ay 2 1 (ein{—BY — cin Ve
(1 - cos(a + B))° + (0 - sin(a + B))* = (cos(-P) — cos a)" +(sin(-p) - sin a)

a, -P, a + P cooTBETCTBEHHO




& 2008(c + B) +cos’(a+ B) + sin’(a + B) = (cos b ~cos ot)2 + (~sin B -sin a)z.
| -eos{a-+ )+ 1= cos-2o0s Proos a+ cos’a+ s B + s psine + sin'y

2 -'2cos(a +) =2- 205 o-cos f + 2sin ovsin B
-2c08(e. * B) = ~2¢0s 0-cos B +2sin a:sin f

cos(e + B) = cos a-cos p - sin -sin p.
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3anuiunte GOpPMyJibl CAOKEHHNS




Beruucanre ¢ noMouisio GopMyn CIOKEHHSA

1) cos135°

2) cos2 T

4

3) sin150°




Beruucanre ¢ noMouisio GopMyn CIOKEHHSA

4) sing-n

5) cos72°co0s18° — sin72°sin18°
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CamocTosaATenbHO: )
Boiuucanre ¢ noMoLso GopMyN CIOKEHHS:

3% o5 IR 4 sin 8T gjp 2.

3 3 3 3’
2) sin33°c0s63° — cos33°sin63°;

3) sin2& cos 22 + cos 2% sin 2& ;

7 7 7 7’
4) cos15°30'c0s29°30' - sin15°30's1n29°30’;
5) sin27°20'c0s32°40" + c0s27°20'sin32°40'.

l) cos==




Ynpocrure:

1) cos 2a-cos 3o — sin 2a-sin 3q;
2) sin a'cos 20 — cos a-sin 2aq;
3) cos a-cos 2a — sin(—oa)'sin 2q;
4) sin 2a-cos 3a + cos 2a-sin 3q;
5) cos 2a-cos 3¢ + sin 2o-sin 3a.




